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( Overall Job Satisfaction)
JDI ( Job Descriptive Index )
(Is-Do)
(Want-Do)
(Is-Get)

(Want-Get)

41



42

5
(N=171)
1
5.15 3.53 F2
5

1 2.43 2.13
2, 2.66 2.33
3. 2.68 1.81 303.69*
4. 2.35 2.84
5. 2.45 2.83

1-1.49= IS 1.50- 2.49 = ) 2-50- 349 =
3.50- 449 = | 3.50-4.45 = 4,50-5.49 = 5.50- 649 = 6.50-7 =
5 1-1.49 = 150-2.49 = 2.50-3.49 =
350- 445 = 450- 5=
2 (dDl) 5
8
5 (N=171)

(JDI) 5

(F=303. 1p < 0.0001)



(N=171)
(INCLUSION DO)
(CONTROL DO)
(OPENNESS DO)
(INCLUSION GET)
(CONTROL GET)
(OPENNESS GET)
* P < .0001
1 1- 149 =
350- 449 = 450 - 549 =
2 1- 149 =

3.50-4.49 = 4.50-5.49 =

(is)
(is)
SD
1
3.61 1.75
3.19 1.86
4.19 1.83
4.13 2.08
2.86 1.90
3.66 1.43
150 - 2.49 =
550 6=
150 - 2.49 =
550- 6=

(want)

(Gap is-want)

32.29*

54.43*

2.50- 349 =

2.50 - 349 =

3.69

3.15

4.06

4.04

2.81

3.64
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(want)

1.80

2.40

2.05

2.15

231

1.66

53.66*

94.63*
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9 (is)
(want) (Gap is-want)
(1-0)
(INCLUSION) (CONTROL) (OPENNESS)

( F=32.29 1P < 0.0001 )

(419,361  3.19)

(Want-Do)
(INCLUSION) (CONTROL)
(OPENNESS)
(F=53.66 1P < 0.0001 )
(4.06 13.69
3.15)
(1s-Get)
(INCLUSION) (CONTROL) (OPENNESS)

(F=54.43 1P < 0.0001 )

(4.13,3.66 2.86)



(OPENNESS)

94.63 , P < 0.0001 )

2.81)

( INCLUSION )
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(Want-Get)

( CONTROL)

( 4.04 13.64



(GAP is-want)

o o1~ w N

( INCLUSION DO )
( INCLUSION GET )
( CONTROL DO )
( CONTROL GET)
( OPENNESS DO )
( OPENNESS GET )
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10

Gap

(INCLUSION DO 1)

(INCLUSION GET2)

(CONTROL DO3)

(CONTROL GET4)

(OPENNESS DO5)

(OPENNESS GETS6)

P<.05

© (N=171)

.0418

.0437

.0919

-.0065

-.0602

-.0344

-.0145

-.1290*

-.0640

-.0178

-.0784

.0554

.0359

-.0363

-.0498

-.0169

.0523

1166

(GAP

-.0242

.0658

.0193

-1216

-.0515

-.0376
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6

is - want)

1077

.0872

.0287

.0446

-.0976

1169

.0779

1235

172

-.0182

.0486

.1048
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10

INCLUSION GET (By = -.13, p< .05)

1 36 0.028

0.05 (P < .05)

2. INCLUSION GET
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